earms AsrElys GHSE @ == Lifley

GToIT

2019
o1l L §&5F| LOHMILD 2 66 e

Sia@wdssiulHerar Cryb : 3 waunfl] : [Qurés wHLQueTser : 300

MenrsaEnse ufoadlsguear Spssam idlajmrsamer sauamons LR&EEa|b
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10.

11.
12.

13.

w&8u dlejerser
@ps edams Qeneuy Caiey Aan_rfi@ausng 15 AUl kisE@rss (parargns elamamiugsTyiaEnés eupmsUuGLD.
@bs eflems CAsneLy 200 damssaand: Caran(Hererg). el weaflss Qsm_rigaper @euailamsbsn@guia eraen
eflanmaasenid cuflenswins @b QuppiETeTaTUT TeTUMSWILD GlanL Wle) GEIb CleuDTISSTETEHET 2 CTETEHaUT TETLIENSULD

 afluniggs Qenetateb. gGsaud G@PUTH @@L, Sigoear LUsg Bl nhisEpsE@H D@paansafiuuneriib

Qsfefisg), sfluns o drer Caulprm ellams QsrElbeear Qupps Gerdrer Cauan(ib. Gy CgrLmdw ey,
apemui e eflenmg Qgr@ iy wrHls STUUL OTLLTg).

e dilamés@ErsEn elawallssead. eraer ellamésenb swwnear wEUGuETsET daTaT_ma.

o hisERLL Uda| aaramar @BsL usssHar cuagl Gl apmalidr DisHbaeat S@whgidea QL sl Hrsdr
ers Ceuart(Hid. Coumy crangu|bd ellans CgnE@Ude T (Wss smL-ngl.

efleLsamer GHSE sr_L eren, ellenL_SHTET e 2 hGEHGE SNODE SarsraflLumeTyme sy L@Ib.

2 misEpoLw Hamstsrely @l emr (Question Booklet Code) eflenLggnaflen @ramind usssEld
Sispolsa s@whgdaer @Lsdo fab wdag smew Hn ewwaLw ubsiipaay Cuameianrd GHlidsié
s Ceauanm@w. CupsanLapon dorgsraie Brsda @dlsas s1ilLs geaupand Csrauramenw

siledlsamsuie @ikl Hedrareurm pLelysans Gopblsmereriu@.

eaGleumm efammayd (A), B), (C) wpmid (D) eTam Brren(s, eflenLsenens Qamat(hereng). Brusar seneusatics G exm sflwime
AenLenws Caitay Qg eden_sgrafle Ghlegs sn L Couam(Hib. genmise Copul L sflwrer eflent a6 gm Caerellés
Qmiustss smiamd Shisdr Wes sflunag ceam ass sEmaSldTEGa obs el sow eloLgsrafe GhissE
sl Ceuan@®. eriugwmiaybd exm Casaelsag @l om dlaLamusstear Camllsdés Couan(ib. e hsEnemL
Quomss wHLCUaNsd Bisar aleLssralle @GHsss sm_(H sflwurer efent seflar crarraniidamsamws QUIDISSS.

HenLsgnefle geQeunm Cadred eramelipen adfe @), @).© wppb (D) cren prens eul L ks o 6Terar. gy
GaaredsE eflenLweflés fruser sfQwear smagib e amu gGr g eulLsgld LB fald kbag snmow Hp
e UBg et Guemeieamd @Hless snL Cauan(b. gaCenm Caaeilsgn om efloLmusd
Coi@s(ss edewLssnafler Ehles Cauar@u. am Cadelsd gamée Cupul L efen wealigsd <ibs e

SEUDTSTES H(HSUILHLD. 2 STTeions Briger crenuens Filwimen eflenwingss a;@;ﬁlmgb Sieng SleeugpLonm)

G555 sm_L Ceuei(HLb. ® . © ©®
Siuser Qe Qer@lden apsll ussE@sUD BesCar Siwag §iPssGan saLng. Gg,rreu Cprsdler @bs
dens QsrElkblaaGur swag edaLssramaCur Csies s s NG Qeuafluiie THS51E GsdassenL ng).
Cairey apuhsifen Briser o hseraorw ola ssreas sanstefluurerflLn Qsr@sgs L. Geuar(Bb.
Qeuellanns Qsrelibiemeans Corey (pu.hae L e Hhiser 2 mkis@hL 6t cr(R581E ClEMLD.

@hlyse erupdl unitiughE dems Agrelifer sl U LEsSEDE e 2-6Tear LssSMS 2 LCLNESES
Qanearerand. @ass 56y, g Qsreudean aps QLsHab aps g GHluysmenyb CslwusEsmL TS
@5 sifleyeny samgiuns Weruppuiur. GeudmBib.

< adle eugelld QarTRasiulHarer @GHlULSET ST6 (plgeuTaGn@LD.

Aemesriiusmyisar efleLwelssnoea o daer elamsaafar Cworss aamafismsaw elaLssraflar ussw 2-@
Sisn@san 2 fMlw sl LsHe erpd Bylueayd. @sptser smHswns RHgl HIOL mse aupmslu@LD. '
Cupsar sifamrsafle aamswreag Bilama Csraurmemun WiLaBEGL By EmssEEsE 2 aTerms
CrAlw erean ifleypissuBADS.
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Assertion (A) : Refined products have a longer shelf life.
Reason (R) : The bran and germ are removed in refined products.
(A) ‘A’iscorrect and ‘R’ is wrong

(B) ‘A’is wrong and ‘R’ is correct
(CV Both ‘A’ and ‘R’ are correct
(D) Both ‘A’ and ‘R’ are wrong

ENOE a,g,g,)a-,rﬂ&;amuf_a_ QuTL_seT ST BT s6T AsLT0 @ HEGWD

smend : asfefasiulL QurmplsalldBhg 690 wLHPDL WPMETEEGHSH UGS &6T
BssrL@Aar. |

A)  sapm &M smyamDd Seum)

(B)  ebm seum, STy

(©) &mpmw, smyeTapd &l

D) Gpmw, sSMTEIWL FoUm

Which of the following food will you recommend for a child with bleeding gums?
(A) Yeast

(B) Pulses

(C) Nuts

.(DVCitrus fruits

Foseie 165 sley o drer R GLHDSES SPSEsETL_uDMIET eThHE 2 awreneu LfibgenyliSiser?
@A) el | |

B) -umuy cumsser

(C) QsrienL cuamsser

(D) Alyed LpriseT
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3. Sweetened and flavoured spirits are termed as
(A) Wine (B) Squash
f Liqueurs (D) Soda
G afliLimar wHmiD ETPETET FTFTLILD eTetTm) SHemLPESLILI RS MG
(A)  emeue (og)) B) upssweey
(C) wemrepl LUl STHTWLD (D) Gemn
4. spice is termed as king of spiées. :
(A) Fenugreek (B) Clove
(C)., Black pepper (D) Cinnamon
aunEeman Cummer, eungene ‘QCJ]IJQS]U_EFE_IBSQ‘T?GBT SiEe eTevm) SeP&SLUGHS DG
A)  Qeupsuwid B) &ymby
(€C) Ser D) ulen
5. is called as Queen of species.
(A)-/ Cardamom (B) Clove
(C) Mustard (D) Pepper
aungaar Syedlwnisaiian =iyél erenn SiewpssLLEE DS
(A) gessTl (B) dlgmby
© s66 D)  Blerg
6. Clove is a kind of spice.
(A) Shrub (B),/rree
(C) Herb (D) Bush
&by auens oursener Sredwsms Cembes
(A)  ©ss1§ Aoy (B) b
(C) &y Qeyg (D) ysm

CDND/19



The recommended level of Vitamin A for adult in

A) 20 ue @00 ug
©) 400 ug D) 500 ug

e eyrefl wefllgaée abhs ere) 2 ullTéssg ‘A’ urﬂf@gmué&&ﬁu@ﬁéﬁmg?
(A) 20 g (B) 600 ug
(C) 400 g (D) 500 ug

Which one of the following is incorrect?

High intake of saturated fatty acids can lead to

(A) increased plasma cholesterol (B) decreased LDL receptors.
(C) increased lipid oxidation My increased HDL cholesterol
&G 2 _eereup M) 618 Heummeng,)?

Qefleynm Aasmpliy bl Slewns a(hég CsreTEngad
(A) -Yermevrellg)eter Aamplienu SFsliuBSSID

(B) LDL-gnY9semer gernsdns |

(C) SUhl 680 ayen SiFaslLBSSID

(D) HDL-Qamglemu Sifslu®sgin

Which of the following is not example for conjugated proteins?
(A) Chromoproteins (B) Glycoproteins
(C) Nucleoproteins (DlGlobulins

Ep&sTRTURTDDIET 6TE @OTHS LITSSMS STITSSI?
(A) ECyrCGwor yysid ' B) SHeearsCamr yysd
©) AwselGuryrsbd (D) ©ECermyedlen

CDND/19
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10. Marasmus occurs between ———— years.
A 0-2 B) 2-5
(C) 10-40 | (D3 Any age

LOFTELDEN FHUI(HLD GUWIG)

A 0-2 B) 2-5
(C) 10-40 (D) ey cuwdHad

11. PEM denotes

(A) Poverty Energy Malnutrition (B) Poverty Environment management
(CJ Protein Energy Malnutrition (D) Protein Equal Measure
PEM ereiug) ———

(A)  eumiend MM 26rl’ L FFSHeento B) eaumew sHMEFGP G e

(C) yrs YO o’ L Fgs55lemenio D) yrs sMeldlg emai(®H

122 ——— method is employed when information regarding the availability of food

is needed at macro level.
(A) Expenditure Pattern method (B) Inventory method

(C)/ Food Balance Sheet method (D) Daiet history

2 ey dls serefler Coameuiupid Cung Sigear @MUY LUDH SSeUD SiHlw

e enswmetliLhiEng
(A) 2 awe QFwey Si@WLIL (PED (B) e awe &7EEG (WO
(C) o awrey @HUY penD (D) o emefled cuyeommy

CDND/19 6 - x



13.

14.

15.

Which type of fatty acid do not require lipase, colipase and bile salt for its digestion
and absorption? ' d

(A) Short chain fatty acids (B) Saturated fatty acids
(C) Long chain fatty acids (D,/Me‘dium chain fatty acids

Qsflomend wHmb o HerasmsE OCusy, CerellCusn LMWL Wss 2 Uiy ComeuliuLng
Qarly il wrg?

Q)  epdusndld Qamwiy sflomsdar (B) Qsdlayhn Garpliy siblemser

(C) fe smdlel Qanuy siflemaser (D) BESsTsmdlel LsaleyBsear

In chronic diahorrea loss of potassium leads to
(A) Gastro intestinal bleeding i
(B) Increases viscosity of the stool

(C) Severe dehydration

(D)/ Alters bowel motility and increase anorexia

pratul L euulppiGursdle Qum_Lrflwib @wliLigne ereare HL&(@Wb?

(A) @eylenu wHOIL GLedler QTE5LCLTES
B) wvesdda Qamp@ampliy saramw Sidsfsse

: (©) s@ewwrer Bllpliy

D) @E-&Quss wryur® LHHIL SiHslss LAWDY semw

If lactose is not digested in the small intestine production of ———  gas
increases.
(A) Carbon dioxide (B,/Hydrogen
(C) Hydrogen Sulphide (D) Carbon monoxide
Am@Lele orsGLre QefssiiuL el Lrd —————— eumy 2 meurdlng,
(A) sriuet @LE®EDH . (B) ean ygenr
(C) a@anlyner saamu® (D) snmiuen Curemseas(®H
7 | CDND/19
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16. When foods are eliminated based on the patients history and their IgE tests of food,

it is called. as ———— diet.
(A) Simple Elimination

(B) Basic Elimination

(C) Severe Elimination

(D)/ Targeted Elimination

Crrureflulen 2 ewrey UM LOHMILD ELGUBTm;SSGfﬂGEﬂ g LNCergeamansaf e .:%q_uuml_luﬂeb
2_GTELEHEET SN TS0 ————————— 2 TP D eTa HaP&HSIUHE DS

(A), ereflu euens B&@EH60 .

B) sigluueL BEEs®

©) s@ewvwurs BsEs0

D) Qo&e féesd 2 aey

17.  One of the following is not a symptom of phenylketonu.ria.
(A) Microcephaly
(B) Oczema

(C)/Oedema

(D) Hyperactivity

Ep&anamb e < NearedCLrgyriwreler iH@n 2ida
A4) SAdw wewren

B) Gsred Suppé

€) BisCamieas

) lSé@&_uJﬁ;l.llT@
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18.

19.

Abraham Maslow’s theory of motivation is based on
(A/Hierarchy of needs

(B) Intrinsic and extrinsic factors

(C) Expectancy theory

(D) X andY theory

< pand wrevGareler Comeausaiiar Camlum® Qs FHG B)(H&EL

(A) Caeeusafler euflenspan
B) e dremmins wHmb Qeuellyns sryeflser
(C) edrunrmiy Qsnearens

D) Xuwvompb Y Csrarens

Non monetary motivation will satisfy a person’'s ———— needs.
(A) bodily
(B) security

(C) economic

(DQ/ social needs

LIGRTLO DD 2 HGISH0 (M Loewil & 6wt et ————————— enihg Caemeusamner Sré&@LD.
(A) =zLe

(B) umgismiy

(C)  uewd

(D) sapsd

9 CDND/19
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20. When blue and yellow colour is mixed we get ————— colour.

(A) Orange
(B) Violet
(CI Green
(D) Black

Ewmaﬁwmgmgqm, LD(GHEET  EUEHTENTSHEMNS LD a;a)‘r_'r,g,rrsii BLO&S é}mi_uugu
HlmwmELo. '

A)  reEps

(B) ecuwel

(C)  usems

@) spiy

21. .The Prang colour system was developed by
(A) Munsell
(B) Robert Hue
(C) Robert Prank
(D/David Brewster

Gy cuaiTenT enoliSlenar seaT(Hidlig SHeur
(A) el |

(B)  gruit gy

(©C) prurl Ggras

(D) Grefi L[@raiuL_fr
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22,

23.

24.

Food items like meat, butter, cheese, milk and ice-creams are stored at

(A) -1e°C (B) -14°C

Cnf —18°C i . D) -17°C

Qené&sl, Qeuambent, UTTL &6 1y, LT LHMIWD Ualssmp Cuream 2 areyls Qur@HLsar
°C We CellsaliLmEng)

(A) -16°C (B) =14°C

(C) -18°C D) -17°C

Choose the correct answer :
Statement I : Dry storage rooms are suitable for non-perishable foods.

Statement II : Low temperature storage is suitable for semi-perishable and
perishable foods.

(A) Statement I is true and Statement II is false

(B) Statement II is true and _S'tatement I is false

(Cv Both (I & II) the Statements are true

(D) Both the Statements are false

sflwrer eflenL_enw Qgfley Gawis
cumgSlwid I : Gal QU Cunsng 2_ame s Ené@ 2 Callliy Dmn QUTBSSLTEE.

arsdlwn I : eflegeiled Ga@nd  wHmb eafllfléd QsEL o aeysmer GHDHS
Qeutsuflenavuldied Casling QummBED.

A)  earsdlwb I &M cursdwbd IT geumy B) anrsflwwb I geuy eursdwib IT &f

(©) @rav(® eursdlwmisEnd &l (D) @uan(h eursdwikisEhid Seum)

helps training the employees in good food production and handling

procedures.
(A) Modernization of recipes (B) Validation of recipes
(CV Standardization of recipes (D) All the above

—— op OsmpemamiseErsE wldnd QsTOUUSHEGL, STWLTET 2 a6y
swrillugnHELb, Qewapampsamer MEWTEHeUSHED LiwaBEns
(A) elenowbrésuul L gmwwe Ghluy (B) sfluniésiiul L semwwe @iy

Ly (G (C)

(©) sruuEssLULL oL GHUL (D) @emeu siwasgID

11 CDND/19
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25. Read the statements on sieving and choose the correct answer :
Statemeﬁt (I) : Helps to remove dirt fiber etc. from grains.
Statement (II) : Helps to improve thé shelf life of food.
Responses :

(A) Statement I is true Statement II is false
(B) State.men_t I is false Statement II is true
(C)\/ Both Statements are true

(D) Both Statements are false
Fa0l5 56 @g;rn_fn__lrrsa;f Epssam aunsSunismar eurélss) sflwrar edenL e Qsfley Qsis.
aursdwid I : graflwrisellambs s1é LHDL BTy SisHD 2 Se Hng).

euTEEl Wb H : 2 awre GasLMe B)(h&S 2 56 dng).
A)  amsdwnIef eaursdlw I seum B) eansdwn I seumy eursHwid I1 &l

©) @uan® aunsdwuiisesb o D) Qe eurdSurkisEsb e

26. Apple lis classified under the group
(A) Berries (B) Drupes
(C) Grapes " : (D/Pomes

U6 eThg @G (pedler S cuamslLIHSSILIL (Hererg)?
(A)  Qurflser | B) Lmuyser

(C) dgriens . (D) Gumbser

CDND/19 12



27.

28.

29.

30.

The minerals responsible for the development of off flavours in milk and milk
products are

(A) copper and 1odine (B%opper and iron

(C) 1odine and iron (D) aluminium and molybdenum

LITED LOHMLD LIMGY &MTHE 2 ewTe|L @Qn@Lasaﬂeb FHUGD eN(HLUSSETS HeneusE STTEHTDT(GLD

Sl omIGeT
A)  smOrb wHnib Cuwimg.er - (B) smblyd wpmib @by
(©) <Cwmgern wHHILD @(HLOL D) egiaflwb wHmb wreliigend

Identify the following protein rich foods arranged in ascending order of biological
value of proteins. _ ; '
(A)  egg, milk, fish, meat (B) fish, meat, egg, milk
(Cyd meat, fish, milk, egg (D) milk, meat, egg, fish

Spssam Ursbd WEhs 2 araseilay, o u@flwe wdHluG9nCspu SWYmpe Coenrs sflwrs
auflensiuRSSILLL 2 anra|sener &eut(hidlig. '

(A)  pren, L, B, @annés B) B, Qaméd, wplevL, Lied

(C) @a)méﬁ,.l.ﬁsh,urreb, pLranL (D) une, @enwasl, Ll enL, e

Carbohydrate content in 100 g of cow’s milk is
&) 30g efidg

(C) 50g : : : D) 74¢
100 & ua}muneﬁlaﬁ 2_GTeT LmeYFaSSlen 2i6ma
@) 3.04 B) 444

(©) 504 - (D) 744

Chocolate and cocoa come from the fruit of the plant “Theobroma cocoa” in form of
beans containing ————— seeds.

(A) Black ; ' (B) Brown
(Cff White | (D) Yellow
sm5CanCal.  wHmb  QsréCsr “HCuTUCrTCLIEsTECsr” ofar uwhseld GHHS
Quoiiu@dlng). sieuemy eugellerear Ukisatsd —— Blm elengser sreRTLIL(HID
A smiy (B) Ly
(C) Qeuarener (D) Ln@je_re'ﬁ
13 _ CDND/19
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31. Blanching is a process ofﬁaste'urization which involves
(A) activation of natural food enzymes
(B) _high temperature above boiling point
(C)/ 1nactivation of food enzymes
(D) heating of milk

Germenélr eremend WeuliLiLsaf(HID (panm S(peTer Tans 2 aTaTL &l 1ig)?
(A) 2.awey Qpramer cadGellssa

B) Qsrdlflevavs@id @ifswrar euliugams LWETLHSS S

(C) e awe Cprdlamen Dewealpsss Gelieug)

D) uree Qsrdés ereuliug)

32. - Leuconostoc mesenteroides converts sucrose on improper storage to

(A) Starch (B) Maltose

(3 Dextran ' (D) Dextrin

&HEUMTer Sr'fé-}‘SSGIDUI Caliumed, musCamprevLmé WGlevergFmilev &&Grrenen
<215 wrHMedlHitd _

(A)  evnmE (B) wreGLmev

(C) Quasvyen ' (D) Qsevfer

33. Read the statements carefully and mark the correct options :
Assertion (A) : Avidin is an antimicrobial agent present in egg white.

Reagon (R) : It forms a complex with biotin.

(Ay Both (A) and (R) are correct and (R) explains (A) adequately

(B) Both (A) and (R) are correct but (R) does not explain (A) adequately
(C) (A)1s correct but (R) 1s wrong

(D) Both (A) and (R) are wrong statements

sanm (A) : pplen Ceueranemudley @) (ma @b i6lliq6im ep(m micwTamiudfl gE LT

smyentd (R) : @ig uCuimg i andlenartigy srewriui(BiLd.

Guguerer sapm (A), smerd (R) sflwepep smsde Caran®, Gasr@ésiiu (Herar
CamElgelmhg) o miger elanL_amw Qgfe| Qgus.

A) (A vomb (R) @rer@® &fl, Gogyb (R) erenugy (A)alinarar gflwimer efleréasnd

B) (A womd (R) @remr@w afl, geme (R) eramugy (A)ellpanen sflwrear elarésid @eaena
©€) (A &fl Hyarmed (R) seumy

D)  (A) vppid (R) @rerBid seum

CDND/19 14 X



34,

35.

36.

An “antiinfective” vitamin is
(A) VitaminD ' (B) Vitamin B
(©) Vitamin K ' (D)/Vitamin A

e Qen@usigeu” emeul L e eramenp&sLiL(Heug)
(A) el Lflen D : (B) emeul L fer B

(C) e Liflen K | (D) eveul Lilar A

The photoconversion of provitamin D, to previtaminD, takes place in

(A) eye ( skin

© liver : (D) intestine

yGrmeneulLifler D, - Gfleneul_Liler D; 948 qaflomhmid enteug) @&ledle

A)  sawenfle ' (B) Caredled

(C) seadgedle D) Lo

In infants, hypercalcaemia is due to intake of 100 g of

(A) Vitamin A (B) Vitamin B
(C) Calcium (D)/Vitamin D
@lep‘rj)mg)&aﬂsb. 100 pg ————— a@w 2. Qarareusne mapliLrsrelduslur Coramding
(&) e Liflar A . (B) e L fleén B
C) srodlwub D) eaul Lber D
15 CDND/19
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37. In Diet therapy the interaction between . ) and
is very important.
(A) Patient, Doctor and Dietitian
(Bf Doctor, Dietitian, Patient
(C) Dietitian, Doctor, Patient
(D) Doctor, Patient, Dietitian
o awrey (BB uGwedle : LDHMILD @ eurrs et e
2 eTL ML 1D L&D PSSWIDTEISTEHD
A) Gpmumefl, @GS, e amreilufue Hlueri
B) wmsgeu, 2 arelwe Blyewt, Crrwrefl
(C) e amefluwe Hlyemrit, LmSgeuT, Crmuimef
D) wmsgeur, Crmwmafl, 2 amrefuwed Bl

~38.  Full fluid diet proirides about ——————— gram of protein.

A) 25 : B) 15
o/ 35 D) 10
“app Bt 2 awray” ————— Sgmd YrsgHemen siefladng).
A) 25 : B) 15
(C) 35 ' (D) 10

39. Nutritional care program has ———— levels.
A 4 ' ®) 3
¥ 5 ®) 2
“Bl’Mdlerer Cam LGrmdlymp” —_ﬂmmmu_: QarerTL_SELD.
@) 4 | ® 3
(C) b5 D) 2
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40.

41.

42.

Which one of the following reduces the risk of oesophageal and stomach cancers
(A) Vitamin C ~(B) Vitamin E
(C) g Carotene (D/Selenium

SpserarTucuDile 6T 2 ameys @Gl wHmib euldm LHHCHTew &f u@gjsgj:.b?
A) =2¥ss55 C (B) o lrsssg E
(C)  SiunsCrmiger (D) Qselafwib

Which of the following is used to reduce the risk of cervix cancer?
(AJ Vitamin C (B) Vitamin E
(C) Selenium (D) p Carotene

EpssTaTUIIDNET 6T8) SMHLIML &(1p&5 LDnCHTaW Gl Iu®ES &§GL|£;D§];?
(A) 20975558 C (B) =2.ulisssg E

(C) Qsellaflwd (D) SionsGrriiger

Which of the following reduces the risk of lung cancer and throat cancers?
(A) p Carotene (BfVitamin C
(C) Vitamin E (D) Selenium

Spsasramuaupmedr g GLe ydmCrml wHmb GsrameL yHMCHETaW GTUUBSS

2 s &g ?
A) SicrsCrmigen (B) oulitéssg C
(©) o Wlisssg E - (D) GQsedefwb

17 CDND/19
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,43.  Match the following :
(a) Ownership d Chairman
(b) Upper management 2. Financial Manager
(¢) Middle management 3. Entrepreneurs
(d) Supervisory management 4. General Foremen

(a) (b) (© (d)

(A) 4 3 2 1

£ 1 2 4

€ 1 4 3 2

D) 1 3 4 2

Filwums Qun@ggmm

(a) seraf Feneveuit

1
(b) senemw HiTeunsd 2. eumeumis Guemeni
(c) @eLfloo Bieursd 3. CQamble apenareur
(d) Cuwpuriees flifeursd 4

Qumrg apseur

(a) (b) (©) (d)

A) 4 3 2 1
B) 3 1 2 4
) 1 4 3 2
D) 1 3 4 2
44. Both description are classified under ————— style of leadership among
managers.

(1) : Own decision without explanation to subordinate
(ii) : 4Own decision with explanation to subordinate

(AN Centralised . (B) Participative
(C) Democratic (D) Decentralised
Spsarand @ren(h efadsnsEpn —— eums Guemamisaiar semoeol L

umiGsefer &1 aiaslLSSLILL DeTars)

@) @ serdp uaiiyflyb eafursefl b efeuflGsmoe sw gCeuBEse.
(11): ser & uerflyflyw eafuirsefl_b efleufiss sw Wy CauBese.

A)  @meauamyewwwrs Qesran® Qewouheaug

(B) uveCumeLw smsgssmer Cal( mLLULZ)

(©C) gampmus wpanliulg pybeaBuug

(D)  vefler usaflOCUTE wWyuQeu@liug
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45.

46.

Canned products aré maintained at

(A) 15°C

(C)/21°C

soaied  usLURSSUULL 2 aejl

ugmoflésiuB S ns
(A) 15°C
(C) 21°C

QummLser

temperature.

(B) 18°C

(D) 20°C

Qautiufleneulley

(B) 18°C.

(D) 20°C

Which one of the following indicates the food handling practices.

(A)/Food code

(B) Grooming
(C) Perceptions

(D) Work habits

SpsaaT_cuhmieT 6Tg) 2 axrey esWm(Ehd Lulhsflews GhHsdng ?

(A) 2 emrey GOUIH
®) SULEsHED
© soss

(D)  Geuenev LIPGEEIGET

CDND/19
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47. The food service layout should be based on its
(A) Location : : (B) Menu
(C) Budgetary constraints (Dv (A), (B) and (C)

R 2-mTeUESSH T SenLILITENE SLpeheuaTeuHmIeT arens QUMM ienww CeuamHib?

P

(A) e@uuldLn (B)  2.awrey Liigwied

(C) aupeyGevey Ul iguwe (D) Cupsmplu smeargsd
48. The normal reach area in kitchen for a worker is ———  em.

(AI 85 -90 (B) 145

(C) 215 (D) 230

gmwwomnuie e srgmemons Ham QurmLsmar a®ss GCueme QelausHE

Q&.15. 2wy Caeneui@Bb

A) 85-90 B) 145
(C) 215 . (D) 230
49. Windows, vapor extractor hoods and exhaust fans are the modes of ———  in
kitchens.
(A) Lighting (B),Ventilation
(C) Pest control (D) Cleaning

geanaser, Hrred/ymsCunsdlser, smhenp GaueliCwuppd SANsear  @eneuwireyn
samwweampuie Qsnans o LGunSssiiuBEng, '

(A) Qeuafldsb euprus B) poe smHCoT_LSHDENS

©C) uy&d s EUUIE (D) &ssLLMSEGUSDETS
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50.

51.

52.

Milk is deficient in

(AV Iron, Vitamin C and Vitamin D

(B) Iron, Vitamin A and Vitamin C

(C) Calcium, Iron, and Vitamin C

(D) Calcium, Iron, and Vitamin A

urelle & GenHS 2ieTe| 2 dTaT s5gIEETTaIS

A)  Qmby esg). 2 Wiéssg C wpmb 2 wiiéssg D
(B) @y es8), 2 ullTsess A womb 2 uliéesg C
(C) smevdlwibd, @by 68 LHMID 2 uiTsssg C
(D) sr@dlwb, Gy e68 LHMID 2 WTEe55 A

The aromatic substances which enhance the flavour of food, stimulate salivation and
helps for digestion are called as

(A) . Food additives. _ - (B) Green leafy vegetables

(CV Spices (D) Beverages
o awreflen wensmsLD, 2 BPET sylumsyD, GQefloragmsuyb 2aéEelsEGL  HHLET
QummLseTmeug

(A) o ewe Caiseamasen

B) usmes @ee smisHSET

(C) aumeenan) QU@L ser (wamenls QummLgGer)

D) uremser

Which of the following statements are true?

I. Housewives prefer pressure cooking as it aids for nutrient loss.

II.  While boiling foods, protein gets denaturated, strarch gets gelatinised and
collagen gets hydrolysed.

ITI. Roasting improves the colour, flavour and texture of the food.

IV. Deep fat frying decreases the calorific value.

(A) TIand]IIare true By 11 and 111 are true

(C) Iand]IV are true (D) III and IV are true

SpsasarLeuhmer sRlune sapmsaer ereneu? |

L. A oassrdlaer 2i(pss Qardawer wapulle ganwliuamg edflmbydpmiser eblerennme
Qg #5658 Twsens saé@ellsdlemg).

II. QardéEb Qurs o ameiigierer Ursb @uhas et QWsHngl. Tessss)
venswrélpgl wHmib Qarentger Sisss Cundpg.

I, eumdugne o ewmedler HMD, WD LHND Seraid dnHElEmE).

IV.  eaeanGeamniube Qumiiug sCorfl wdlemu Gansdleama.

A) I wpmw I ef _ B) II wpmb III &

(C) IwogwlIV ef (D) I womyw IV &M
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53. Which of the following is categorised as white meat?
(A)/ Poultry flesh (B) Pork

(C) Veal - (D) Mutton

&EQu Qarssliul_Herereupmier “@uil 517 erammenp&siiLibheug) eTg)?
Q) upmeusafler @eansd (B) uvemlengd

©C) samManss D) <ylgeansd

54. The factor responsible for milk flavour is
(A) Whey protein (B)/Milk fat

(C) Caesin (D) Lactose

E(LpETaTeUHMIET 615 LITEE BMIOERTSSHN @ STTERTLONES SO S)?
(A) Cauypsd (B) unellen Qamupliy

(C) Cadlar D) ersCLTe

55.  Which one of the following enzymes are responsible for increase tenderness of meat

during ageing?
(A) Rennin (B) Tropomyosins

(C),. Cathepsins ' (D) Papain

Suparereunled e1hg QBdl euwdlenmed gHUBLD W(HEIS SETELDEE SMTeRTD?
(A) Queflen B) LCyrCGumoCuiréler

(©) sGQgleleren (D) uvQuuler
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56.

57.

Which sugar contains molasess, glucose and fructose?
(A) Rock sugar

(B)/ Brown sugar
(C) Golden sugar

(D) Castor sugar

sPle|uUTE, &EHCSHT6D LHMID o LIFEGLTED 2 6TeT FTEEHEM] 6T ?
(A) - Fissey slig

(B) uwuy srssen

(C) smssissmr

(D) g Qeudtener LI & FT&ES®T

Which is the dark by product formed during refining of sugar?

(A) Brown sugar

(B) Diamond sugar

(C) Castor sugar
(DV Molasses

snssay &SHaMiy QelybQurg 2 (@ SiLbs HneenL w genest QuTHET 6rg)?
(A)  wlys srssey

(B) ey siGsey

(C) g Qeuctenar Ly & FT&EET

D) sfeylung
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58.  Which enzyme catalyses the activation of fatty acids?
(A)/ Thiokinase (B) Protease
(C) Lipase (D) Esterase

b Gprdl Gampuy Sflonismer awLgnss aplHEng?

Q) sCwrersGaneiv B) yGyriyCwen
(C) &SNUCuev D) erevL_Crev
59. Hydrolytic rancidity is caused by ——————— enzyme, which is secreted by micro
organism. 4
(AJ/ Lipase (B) Esterase
(C) Hydrolase _ (D) Dehydrogenase

amanl_grellinsd Crendligl iy (Hydrolytic rancidity) = pusd uvememn Qprdufer Quwir

cTemen?

A)  SuGuev : (B) erevLGrev |

(C) @angGaev D) eeman_yCerev
60. . Lacking of lecithine leads to ——————— syndrome.

(A)I respiratory distress (B) fatty liver

(C) acidosis (D) alkalosis

Speumeuareupmer erg ‘Lecithine’ @enpliumgemmeé eumdlmg)?
(A) seunss Camernmser (B) QsmulueLgs iy

(C) HCLrélen : D) ssCandlev
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61.

62.

63.

64.

Nutritional Assessment aids in identifying

(A) Under Nutrition (B) Over Nutrition
(C)  Nutritional deficiencies (D.fAll the above
sar’ | &858 HUSMH srraflsarts sdluliubeug

(A) o’ sesdlen S (B) 2’ &gsdlen Goed
(C) oaiL&ss5 Gopun( (D) Qe enasgb

When was the dietary department at Christian Medical College Hospital started?
(A) 1956 (B) 1953 '
(Cy 1950 (D) 1958

gfleviguien WwmEHeus soQrfl wmsgawmanidd ey slEUUTIG geon auCuT
Qsm_msiul L g?

(A) 1956 ‘ (B) 1953

©) 1950 | (D) 1958

Which among the following is supplemented to patients during severe sepsis?

(A) Purine (B),Omega-3 fatty acids

(C) Omega-6-fatty acids : (D) Arginine and Glutamine

s@ewwrer FHAsTHden Curg Crmumeiaenda@ Gemeumeuaieuhled 6T auprisliLBE DS ?
A) Gyyfer (B) Omega-3 QsmpiiL) il

(C) Omega-6 Qaruy sible (D) eitgeneren HOID @(@EHL L L6

What is the amount of amino acids present in one litre of Astymin Solution?

(A) 80gm (B) 70 gm
(Cf 90 gm (D) 100 gm
@ LT %dﬁ@LLﬂm smrseller @) m&@Eb HCarT Siflomiseiler 6T eremen?
(A) 80gm B) 70gm
- (C) 90gm (D) 100 gm
25 CDND/19
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65. Vegetable oils diminish the plasma cholesterol not only due to PUFA but also
(A) Delay the process of absorption
(B)./ Plant sterol inhibits cholesterol absorption
(C) Vitamin E in the oil delays the oxidation

(D) Increases the excretion of cholesterol

smeuy cramGentis emssar @QrsssHe odrer Qsmevigree, PUFA apawrs wl(Gib
G®DESTOO HMID @ (Penuiled Gammsdlarng)

(A) Gsmeevi_gred 2 Mepseug SHEsULHE @M

B) sreur eviggred QaTewevl re 2 MEhsLLBemss sHEH@DE

(C) olnéssg E g-rmm;r areClenmiudley 2 arargme 2 selGLayamer SHEHammg)

D) GCsmeevigre AeuaiGCubnsens srawr(Hidlems)

66. Alcoilol level should be eliminated or reduced for those having elevated

levels.

(A) -Cholesterol (B) VLDL

(C)./Tr_iglycerides ' (D) LDL

as@e W eme| SfswrEghd Curg wgutasms G@DsEEGaT Dowg selliTsEsGeum
Couam(Ln?

(A) Qsmevevi_gme (B) VLDL

(C) Lengdlaflgany( (D) LDL

67. According to ICMR, the proportion of polyunsaturated fat to saturated fat ratio

should be
CAY: 1.0 :10:8 ; (B)/O.S : 1.0
() 10909 D) 09:1.0

Beepd Henpept Gerwiy <wWesdiend Hopeypn Gsrwiy blesShEworear
sjerei_en ICMR ereueu T SawéEL(HeTarg)?

(A) 1.0:08 (B) 0.8:1.0
(C) 1.0:0.9 : (D) 0.9:1.0
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68.

69.

Training given to the workers by special instructors in an artificial environment

inside the factory premises is

(A) Field trip method-

(B) Internship training method

(C) Programmed instruction method

(D/ Vestibule training

ulnd @en eeaug Geupeswns o (HurssUUGD
Ceuamnad@peiler LullnHwimeria@hé@ LWIDS efliugmE@d
(A) Yo uwent wpenn
B) welen Eip LLAHA ey
© Sl oulL aflapsss o

D)  uvefl @Lsms @55 Qs

One of the following is an on the job training program
(A) Lecture method

(B) Role play
(C) Field trip
(D/Job rotation method

Spaumeuaneunmer eearm uexfleull LLIHE perpwmED
(A) eNfleyeny pem

B) ULCEHY passe

(©) serl vweRTpPEOD

D) vexfl &HA

27
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70.  Dairy products can be stored at ——————— temperature.
(A) 1.1°6-727°C
(B)/3.3 °C -17.8°C
(C) 06°C-3.3°C

M)=sC0 Uy (211 2C)

Limed FIOUBSLILIL L 2 et euandsaer Gallé@h CeuliLgder siaray
(A) 1.1°C-17.2 °C.

B) 33°C-78°C

(C) 0.6°C-38.3°C

@) =60 = GG

71. Kitchen should be located in the direction of ———————— according to Shilpa
Shastra.

(A) North West
(Bw South East
(C) South West
(D) North East

Heou snevgFlrsHler ammMuyererg) Cume samwwe eTHs Hasuler sienwssiiuL. GCouamhHin?
(A) GULéLD[b@

B) Gsadlpse

(C) QseaCwpe

D) e dlyss
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12.

73.

74.

Which of the following colour is a symbol of purity and peace?

(A) Blue (B) Red

((V White ' (D) Green
E@m@mwmﬁ)@aﬁ ETIhG CUERTERTLD GO WILD S wud GHEEG0?
A) Bew (B) &euly

(C) Qeuemrenio (D) uvéens

refers to qualities that are noticeable through sense of touch.
(A) Colour | (B/Texture

(C) Pattern (D) Form

BL0g) QFT(HLEET pLHGILD @)SEET 2 eRTI(LPIg UL{LD

-

(A) euerTewTd (B) @eweypwibd
©) weon D) euqeubd

A line has — dimension.

(A/ One (B) Two

(C) Three (D) Four

e auflufler 2 arer uflermod

(A e ' B) Qreav®

©) o | D) preng

29 : - CDND/19
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75.  Which disorder involves ingestion of non-nutrient substances?
(A) Angprexia
(B) Bulimia

(C)/ Pica

(D) Binge Eating

a1’ | §5E58) SIS 2 amTanel 2 I C&meT(ense ereucuens Gamermmm@n?
A) CamGuadlwr

B) uydBwr

(C) Yaan

D) VOslErd o amamised

76. Which organ of an infant matures due to epidermal growth factor in mother’s milk?

(A)/ Intestines

(B) Heart

(C) Brain
(D) ' Lungs

smitiurelled o drer UnsGCaTer cuemidd asmpexflwme usflern GhHesWlen aHS MU

WP TES i Eng)?

@A) -

B) Gsuw

©€) epewer

D) meyuiyed :
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.

78.

79.

Cutting the vegetable into 5 mm dice is called
(A) _ Julienne (B) Brunoise

(C)/ Macedoine (D) Jardinere
smushsmaer 5 B sgrhseaTns BN&EE
A) grawer B) ymermiev
(C) wéHLmien (D) ggring Qe
Match the following :

Name of the Pulse Toxic constituents present
(a) Kesaridhal (1) Saponins
(b) Seedcoat of Legumes (11) Lathyrogens
(¢) Soyabeans (111) Goitrogens
(d) Groundnuts (iv) Tannins

@ & © O
&) & O @
@O G e o
©.6). 0 Gy e
@ G0 @) e

QummEs5
UIWmSeT vwmsefler o arer pEHL QurmHLgGer
(a) Gssfl umuy 1) sCunaflemev
(b) vwmsellen ellens wepaer (A1) CogsGrrbgemem
(¢) QGemwm Semev (1)  smil Cyrgenser
(d) Heoss eme (1v) CLeflenser

(a) (b) (c) (d)
@A @@ aw) @ (111)
B @ (1) () ()
(C) @) @) (i)  (v)
D) () (111) (1) (1)
Which of the following statements about germination are true?
I : Nutritive value is improved during sprouting.
II : Sprouting increases cooking time.
III : Germination improves taste.
IV : Thickening power of starch is reduced djie to conversion of starch to sugars.

(A) TandII ( I, III, IV
€ 1 (D) I IL III, IV
&95&;@1;&19}@1&1 wpearslHge updw sflwrer sanm eTg)?

I : sl (Heusme o L5558 SleTe| SiSlslsdamng).

II : weas (Heusrd sgawsGn Crrw sidlawn@demms).

I : weas Heugre sme saBflang.

IV : wressss siasemns 85508 LIHDUILIGISTY g Qe g WTELD ST G@DEDS).
A) IwpmwolIl (B) I, IIL IV

© v D) I IL I, IV
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80.

shakes.
(A) Squash (B) Soda
(C) Lemon water . (DJSynips
umed  seemes Gumary | @eflt uwre uramseller sFeey sl ——b
vweru(Hss LB S s
A) uvyssTy sOHS LiTeni B) Camn
(C) a@uféems it (D) srsseyupb Csibs UTG
81. “Mixologists” are makers.
(A) Juice makers (B) Soda makers
(C) Squash makers (D)/(.Zocktail makers
SENEUWITETTEHET eraTGUITT swrfliueuiser
(A)  upsep B) Gerin
©) upsswae (D) wgurens seen6u
82. Alcohol free wine contains maximum % of alcohol.
AN 0.05% B) 0.1%
(€) 0.50% D) 1.0%
© Emymwib a;qéna)rrg wgjeller sflserey % FTymuLD @mHEEGL
(A) 0.05% B) 0.1%
(C) 0.50% D) 1.0%
CDND/19 32 X

are also available as flavouring agents for cold milk drinks such as milk



83.

84.

85.

The chemical used for fumigation of storéd plant foods to control insects is
(A/ Methyl bromide (B) Propyl chloride

(C) .Acetylene : (D) Ethanol

2 awrey LUSLILHSSHSN, elar L e wpansa@ Qeunmer uwer(BHSsuuBin Gurmer ergl?

(A) Qudle LGrrenwL (B) uGprenuicb &GemmenyL
©C) efliigeien (D) erggenmen

In Glycogenolysis, Glycogen is first cleaved by ———————— enzyme.
(A) Catalase Vo (B) Amylase
: (CJ Phosphorylase (D) Lyase

HenergsGarQgamaadlen, HaarsCamner 2 mLgo uaflaw 6hs elamanuysd Celdng?
A) GCslLGeev B) Si@wCeasv

(C) umevurfGeavev (D) eaGuev

Which of the following does not belong to polysaccharides?
(A) Starch (B) Dextrin
(C) Maltose (D) Glycogen
EpssaT_cunmer o7g) “‘Frssmrs Gemorise CaMbag iere?
A) . evLmiE B) QLsev_Mer

(C) wreGLmev (D) AemerCamggen
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86. —————is a short cut method for collecting informations about dietary intake.
(A) CD-ROM (B/FFQ
(C) FMFH : (D) GDM

oar’ L 5655 o L Oemar@nger updlu sseudwsmer Cssfluusharar @m GUESG el

b G0
(A) A - Gymd B) 6Tl 6Tols G,
(€) et anib ars Gamé (D) Hyabd

87. Which is the best communication method to create nutrition educational awareness?
(A) Nutrition Posters (B) Nutrition Proverbs

(C)’ Nutrition Exhibition (D) Nutrition Discussion

oo’ | §555) sl el fliyeTienal grHLI(BESL LB Qs (pernsena a8 SApHss!?

(A) om' 588 seuGnTLig &6 - (B) el &e55 LpGomflser

(C) oal 1L §558 samamél - (D) 261 L §55) SBHE N TUITL_6D
88. Protein malnutrition influences A Ry vitamin metabolism.

@A D B) C

(C) E : (D')/A

L& 2l L §Fgdlenens —————— aeul_L e euanilang wrHmsdled srésn gnuBSSEnsg |
A4 D ®B) C
© E : D) A
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89.

90.

91.

What is the protein requirement in patients with uncomplicated hepatitis or

cirrhosis without encephalopathy?
(A) 1.2to 1.3 glkg/day . (B) 0.6to0.8 g’kg/day
() 0.8 to 1.0 g/kg/day (D) > 1.5 glkg/day

aaneuCarudl @aoemod fssonn Qapuamiiey Hweg ACrrélev Crmumeflllen yrs

Coeneu eremen?

| A) 1.2 s 1.3 g/flGandlymb /prer (B) 0.6 @psev 0.8 g/flCeondlymid /mmeir

(C) 0.8 pse 1.0 g/flCandlgmd /e (D) > 1.5 g/lfiCeundlymd /mer

Which is the mild form of hepatitis?

A Type A (B) Type B
(C) TypeC (D) Drug induced

QapuenLigelflen Coamar auigeuld 6Tg?
(A) aesA B) aesB

(C) eaasC D) wmHg grewT_LILLL )

The fraction of gluten present in rye is called
(A) Gliadin (B) Prolamin
(C) Hordein (D)/'Secah'n

&6 2 erer umFWSS e @ LUNsLD/ Generd
A) seoeger B) uCyrGevidles
(C) amrigen (D) E&sellan
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92. Cow’s milk contain ———— as major allergy.
(A) a-lactoglobulin
(B)/ S —lactoglobulin
(C) y-lactoglobulin

(D) lactose sugar

U&LOLIMESl eI 6TaT geueUmanDe Ll FHLIBHSSID Syent]
(A) | a -Ga&GLmECermyedler
(B) | B -CeasCLm@CermyeSlen
(C) ¥ -CasGLmgGarmyeder

D) CasCLren sTssHmy

93. ————— are difficult and complicated and normally suited for investigation of

patients in hospitals who has allergical symptoms.
(A) Provocative test

(B)Jr Elimination test

(C) - Skin test

(D) Radio-allergosorbent test

EUGTENLDILITE) umdlaasiiul L Crpmwraflenw W(BSGleuLbanaTulley @S5S
Cup@srareri@b sHewwrer Genganamuder QuwiT

Q)  @flumoed el 2 aTaad Qar(®sse

B)  gearew 2 armea galisgs Gs1HE50

(&) Gg,rrmeu sz Cersamen Qalige

D) GIILq.U_[ILb sdlieisens eneudgl < Tmige
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94.

95.

The —— Act 1954, covers the conditions of work which must be provided by

all employers in catering establishments.
(A) Factories

(B/Shops and establishments

(C) Employee State Insurance

(D) Payment of bonus act

2 emausmisafler GamfanamisErsE wsorasarme efsaiu Ceauamgw Ceumedsrear

Bubgsemarseaner, ———— L b 1954 auamwmslmsy.
4) Qsmf ;b&rraﬁsv

(B) sevLser opmib cvgmLIe

(C)  uvesflwmer wrHle &TUSLH

(D) CGumemev &L ib Qsa)sg 5o

In ——————— method of Performance Appraisal the supervisors follow a pre

determined distribution of points in his ratings.
(A) Straight ranking

By Fixed distribution

(C) Forced choice

(D) Paired comparison

Qewedpen wHUSE g6 Cupurremewreriser @6Hs (peapuide Frear LGUELEH Wanauw
apensal g G Opfay Qediaui

(A) Cmyren greuflens

B) fPeewrer AHGUIsL

(C)  slLmug Csirey

(D) Cgmg @use
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96. National academy of science is an authority on
(A) Food additives
(B}/ Food safety
(C) Food preservation

(D) Food processing

Caélw fleflue sPsLD TaTUg ———————— JFEMT SADULIGD.
(A) 2_awre Gangenaullen
B) oaey ungsTL6
(C) eaweyusLILESSO e

D) o ewrey G&h_la)rrésasgﬁw

- 97. Ikebana style of flower arrangement originated in

| (A) Russia

(B) France

(C) Germany

(D), Japan :

@élumerm eramiLIHID LT DIBISTILD 6ThiE Comamluig)?
(A) gegwm

(B) o°°1£]|;rrrs'msi_u

(C) Qggiwafl

D) guumen
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98.

99.

Which type of catering is not included in commercial catering?
(A) Guest houses

(B) Holiday camp

(C) Dhabas

(D)JWorking women hostels

Yemmeu(meuareuniblen erg aIJemﬂa; Cal LMl euansuilen smbssg) Sicven?
A) Ampdent wraflens

(B) @@ ward

(©) srunsser

(D) Ceuameunrig@d waeflm 651(HE

What is the RDA of visible fat for a 10 year old boy?

A 25¢g : (B) 30¢g

(C)/ 35¢g (D) 40¢g

uflbgiemrssiul L s5gée6T Sanellaruy USH wwg Speugisd sTCuTgW Lelu®b

G&n@uq <2676 6TS)?
A 254 (B) 304
(C) 3564 . - (D) 404
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100. Which of the following is the best source of Vitamin C?
af Gooseberry (B) Apple
(C) Orange (D) Mango

Spsaam_euhner emeul_Liflan § oiflswns erdle o ararg?
(A) Qmeelaasmi B) <yuber

©) <=yeEps (D) s’

101. Read the statements on blanching and choose the answer :
Statement (I) : Helps to peel the skin easily.
Statement (II) : Kills micororganism present on the surface
Responses :

(A) Statement I is true Statement II 1s false
(B) Statement I is false Statement II is true
(C)./ Both Statements are true

(D) Both Statements are false -
&®BMNe SfPsse Qsmturer eunsdwnisemer aunflgg eleLamw Qsfley Qawis.

aunsflwb I : erefigns Conane 2 Nés 2 sadpg).

aurgdwibd I1 : Copyrsde o erer meargniulflsamer oifl&@id.
4) amdwo I sfl eursdlwo II seum (B) eaumsflwb I seumy eursdlwibd I1 &l
C) @rer(® eunadlwmis@so & (D) @uan(® cunddlwriisEsbd Seum)
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102.

103.

104.

Identify the saturated fatty acid present in milk
(AN Butyric acid (B) Palmitic acid

(C) Myristic acid (D) Lauric acid

umedled 2_arer Gedleymm CQamly blosams sy s&ea)b

(A G A snfen : (B) ur@ligs SiBleid

(C) WVfevigs Sidled D) enrflé =bebd

The percentage of fat present in food is determined by
(A) Heller’s test (B) Molisch test

(C) Ninhydrin’s test (D)./Gerber test

2 _awralled 2 eer Gasmpliden sseillflgsms sarrLHu 2 saj6ug
(A) Ganeeiev uflCersener (B) wredley LfGsrgenan

(C) Hemanamig fler LufGanganar D) QarurufGergemen

The chief protein present in milk is
(A) lactalbumin (B)-/casein

©) Iactoglob ulin : (D) lactoferrin

, umedléb 2 grar (g)g,einmu‘)u_irrm LTSLOMEL
Q)  eré_reydern ' B) GCséler

©) orsGLm@CGermyeian D) er&CLm...Quifles
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105. Sodium chloride preserves food by all the following processes EXCEPT
(A) Plasmolysis of cells
(B) Chlorine ions are harmful to microorganiéms :

(W Increases the solubility 6£ O,
(D) Dehydrates food

sflsearey 2 Uy Camiugmd gHu@EbD wrhnrsele E@Gi'rmeuﬁ)gﬁleb FGsauib @emn seuprang).
DG TG ?

(A) Qso GermevGmrensvensien

(B) &Garflen swafse 151 68 G T8 (@ 8 LINGSLOTES)

(C) <&flgen s ST é@a;ﬂé;@m

(D) 2 awefler Bllplienu gHLBESD

106. What is the pasteurisation temperature for whole egg?
(A) 64.4°C for 60 minutes (B) 62.8°C for 30 minutes
((‘A, 64.4°C for 205 minutes (D) 62.8°C for 205 minutes

W @L@Qmm Qleuiu ugend QelieusnE LweTuRSHID Ceuliublana
(A) 64.4°C, 60 A 05 -+ (B) 62.8°C. 30 Hilgdn
(C) 64.4°C, 205 AL 68D (D) 62.8°C, 205 HOL 8D

107. The heat process required in the canning of food increased with their

(A) temperature 3 | (B) acidity

(Cl/ pH (D) colour

2_awTeysHenaT L g ufleen $5e016@ LwaTuHSsUuGIb GeuliLinmeang) &(LpETeT THETTE 2 Wi(HLD?
A) Qeutiublena _ B) eullegsereno

(C) pH D) fipwd
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108. An intake of ————— mg. of calcium is essential for postmenopausal women.
(A) 100 -500 mg : (B) 500 - 1000 mg

(C)/ 1000 - 1500 mg (D) 2000- 2500 mg

wrselesa@ Hbnase Yar QuansErsE Cosmauliu@n sroflugdear era;

mg.
(A) 100 - 500 mg (B) 500 - 1000 mg
(C) 1000 — 1500 mg (D) 2000- 2500 mg

109. The metal ion present in the chlorophyl pigment of plant is
(A) Calcium (B) Phosphorus
(O Magnesium . (D) Chloride

greurssled o_arar &GerrGrmied ﬁm@&aﬂéo sreRTULIHIL STgILIGLITmHET
(A) srodlwub (B) umevugev

(C) Qusatflww D) @ECeameny®

110. The term vitamin was coined by
(A) Osborne and Mendel (B) McCollum
(CV Casimir Funk (D) Gloodman

aaul_L e eremm QFmeeney 2 (Heumsdlweuir
A)  eCuiér LHHL Qe (B) QussteD
(C) TN Lo D) CareoHGuen
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111. Which one is not the satisfactory state of protein nutrition?
(A) Rapid wound healing (B) Increase resistance to infection

(C) Reduces Oedema (D/Oncogenesis

aTg Spugsywren g oo L §558) Hlane e ?
(A) s aflengeuns sMUD 2p,mGe0 (B) Gsmpm erdlmiy flened iflsomgen

(C) Brssl( @onse (D) spme o ar_nge

112. TPN represents

(AJ Total Parenteral Nutrition (B) Total Protein Nutrition
(C) Tube Protein Nutrition (D) Total Prescribed Nutrition
TPN eremug

(A) Quwrss swarameulll sear’ | FF65g B) Quwrés yrs sal L 658

©) By urs aan'_l_é&g',g] (D) Qurss ufbgmrsaiulL s L §558)

113. Soon after the Endoscopy or Colonoscopy examination, patients can intake only
AW Clear liquid diet (B) Normal diet
(C) Semi solid diet _ (D) Solid diet

ararGLreauCarild soag QsraCamaCaniib Corgameans@ Ger Crmuraflser

2 ewray 2 L_Qamerer CauaT(Hib.
(A) Qsefiig Hrey o awray (B) sngnyent 2 anrey
(C) undwerey HL 2 awray D) H 2 ey
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114. Nibbling between meals is common among —————— and is a potential cause for

115.

116.

obesity.
(A)- Children B Housewives
(C) Adolescents (D) Old women

2 awra| Qe Couemerier QpTmsE Sefl sTUlHUSTOH 2 @LTGD 2 L OUHET WTHEE
SH&wns gHu@L?

A) ©Gbmesser (B) eSLyggyerar Queimaser

C)  umeu cuwden D) wdweur

In which of the following cancer, the following symptoms are occur.

Unusual vaginal bleeding pain in the pelvic area, foul smelling and unusual
discharge.

(A) Breast cancer (B)Aﬁlervical cancer
(C) Kidney cancer (D) Ovarian cancer

arpg UHDICrmlle Spssnaind siflGlser sramiu@Bib?

LU auruile @nés s8ley, @G UL auad, HFBTHMD
A) wmus yHmCHTL (B) smueu supsg HHmCrmL
©) Apdrs yppCrmi D) gaflwer ybpCHML

Which of the following in incorrect regarding Nutritional requirements of cancer.
(A) The total energy value of the diet must be increased
(B) Additional protein is required to provide essential amino acids and nitrogen
(C) _ Optimal intake of vitamins and minerals are recommended '

High cholesterol diet should be provided

SparamucunBled eThs sapm Seupeng regarding, Ceeuwrar sggiamey for UHpCHTL?
(A) 2 emrefler g mme wIL b SHsfés CouarmBLd

B) <SCamHAL LHMD Bl TR 2 areld Lrssdlear sarey sHsfés Ceudmm(Bid

(C) 2sHs siereile bl Liflaren, Waryeean 2 amreliler Corgg) Canerer CouawT(Bd

(D) =dswrear Qarply o awey Cargg s Qamarer Ceuer(Bid
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117. For a single person, kitchen should have space of
(A) 15mx3m
B) 2mx3m '
W 2.5m x 3m
D) 3mx3m

e@meur gamwweaamnuild Caime QalieusneE Coameuwmear @)L euss
A 1586x315

B) 2L8x38

(C) 258B8x318

D) 38x3.8

118. (1) : Minimising the number of utensils used in cooking saves energy in washing.
(1) : This can be done by using pressure steamers or cookers.
(A), (1) and (11) both are true
(B) (1) 1s not true
(C) (11) is not true
D) @ and (i1) are not true

(1) : ungdlrruseflen cramariismamws GoDUILSTY Jsmer &55UL0G5 CoameauliuBL F58)
CeflasruPdams? '

(1) : @snE Lrast Brrel LTsHrhiser LOHMILD Lumq)fr @é;&frasanerr 2 LCWrsLILHSSOTD

A) @) oomb (1) QreTHG 2 @renio

(B) () camenrw e wngy

(©C) . (1) 2 awenio HlenL_wimg)

D) @) womw (i) Yrer(H G ae&ﬂmz_b fenLwing)
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119. The number of subordinates who can be efficiently managed by a superior 1s

120.

(AM Span of management

(B) Supervision '

(C) Delegation

(D) Authority

S0 2wi sgeermd Spewwuns Cuerdrow Gelwiu@n &pu uellurerigeter
erarentl s ———— @M sSlerng)

(A) CGupurieeu eiFbsaane

B) Cwpurremel

© guumLgse

D) Hsmw

Cooking meats requires ———— temperatures to make them safe for
consumption.

(A) Low Internal temperature

(BV High Internal temperature

(C) Low External temperature

(D) High External temperature-

Qensflsar urgsmiuns 2 QsraaugnE —— GealuBleoowlsd sowgse
SleudlwionEld.

(A) EoDHS 2 61 euliLiflene

B) =ifls 26 Qautiuflane

C) ©onHs Qeuafl Geuliuflene

D) <=ds Qeuafl Qeuiuflenco
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121. Bainmarie is an equipment used in ———— area.
(A) Front office
(B) House keeping
(C) Storage
(D)’ Service

Quuenof eramiL@ 2 LsTeTD @bs @Lsdd 2 LCLMELILESSLILGSDS
(A)  qpen a@m@mm |

B) ameyev EUGn

(C) Gafa@nd

D) ufomyb

122. A method of pest control that completely fills an area with gas is
(A) Biological method .
(B) Chemical method

(C) Physical method

(N Fumigation

aumyssamens Gasream(® LFflsmer @bpanuied &L HU{BSSoMD
A) 2.uflweé el

B) Gaudlullwe auf

©) BupGusd auf

D) elsriie
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123. Why propionate is added in breads?

124.

125.

(A) It acts as a leavening agent

@ It is added to inhibit the mould growth

(C) It contribute to the flavour

(D) It increases the food value of bread
Qymiguié LCIMIGLNGenL. gran GerdsILG S dmes?
A) @& Vmpgearseb srafluns ewau@Bdeamg
B) Qs 5@66)&556\‘?]6&7 aueriédlenws sent Gawlidlenms)
©) Qg pywens swamu siflsllédpg)

D) @ gswraﬁlsirr STHMG 2 WTGFGHlemg

‘Which food group mainly provides the nutrients that are rich in protein, fat,

vitaminB,,, and calcium?

(A) Pulses and Legumes (B/Milk and meat products
(C) Fruits and vegetables (D) Fats and sugars

apg eameyl Gflefe oifls yrsb, Qarly. 2 uiliésss Biz whpw stoflwb F&g6s6T

o aTenen?
(A)  UwWHSET LHIID LIMHLIL EUMSSET (B) uméd whmib @ennédl Qummersar
(C) upmser OHMLD SMUSDISET (D) -G]as.rr@uq WDHDILD FTESENTT

Which one of the following is combination method of cooking?
(A) Baking (B) Satueing

(C) Stewing (D’lBraising
Ep&semTL6unhmieT a;m'_@ FEDLOWIE) (P GTEI?

A) <bs® B) eassEsD

(C) serL @ausze D) Y&k
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126. The formation of dark greenish discolouration in hard eggs is due to the presence of
(A),/ iron and sulphur (B) iron and phosphorous
(C) silver sulphide (D) albumin

BenE Cous Mauss (PLL SLThs LFms s wrmeusnsaTear sryard Gl o crer
A)  @mby wHmb seoLiT B) @mwby wHmID LTEVLIFED
(C) &Heveur svenul (D) <yedlen

127. Which one of the following contains high amount of ‘PUFA”?
(AN Fish (B) Roaster
(C) Mutton (D) Pork

Spsaan_aupnear PUFA’ oiflsb o dreng erg?
(A) BSew B) @ear Camf Qanpsé
(C) @b L gernss (D) uvend @enmas)

128. The percentage of fat present in cow’s milk is
A 31 (B)/ 4.1
(C) 5.1 D) 6.1

gseildlgd Qampuy uaswT_HLU urele 2 arerg
@A 31 B 4.1
€ 51 D) 6.1

129. Whey proteins are given as substitutes for
(A) Glucose Intolerance (B)/Lactose Intolerance
(C) Diabetes Mellitus (D) Pentosuric patients

Ceu evevg) Hflbe LT s, Sperer argn @ LSSLTs QarHsstuBHDSE?
A)  GEpsGaran @enraryeen (B) aorsGLmev Gen_meryeay

(C) LwQuige Qweiligev (D) QuenCLnEfs Crmuraflser
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130. Which of the following is prepared from corn starch by controlled enzymatic

hydrolysis?

(A) Isomalt

(Bf Malto&extrins
(C) Maple syrup
(D) Molasses

Qemeumeuareupmier w&sTE Gamer wredledlmHg sl HLUBSSLLL L Aprdsailear Srmbu@Esse
wennuiler gwrflEsiiuBheus) eTg?

(A) gCasmomel

B)  wroGLr@Lsevg fer

(C)  wm9er e

D) sPfeylung

131. Which one of the following is pulverised granulated sugar?
' (A) Rock sugar
(B) Icing sugar

(C)/Sugar powder
(D) Castor sugar

Yereupeuameunmier Qumg &8 Gmiwenfl sr&samy eTg)?
A) sT&EsT Sl |

B) gfmsrssary

(C) emssars grer

D) siw Qeuerenar Liig & &T&ES®Y

X 51 : CDND/19
[Turn over



132. * Sensory loss occurs due to the deficiency of —————— vitamin.
(A) Riboflavin (B)/Thiamine ‘

(C) Iron (D) Cyanogobalamin

neUL_L LA G@MmUITLL_T6) Lje0EnemTiTeys g,GhTGme G®nEng)

(A) ACumLiGearelSlenm (B) swmblen

C) @mby D) swCamCsasrumeder
133. Head circumference at birthis———cm

A) 15 B) 22

(C) 28 | (D/ 35

Yops @whesuiler seme snmere, AN Qg..5.
A) 15 B) 22
(C) 28 (D) 35

134. The height of an individual is measured using
(A) Circumference (B¥ Stadiometer

(C) Lanometer (D) Limnometer

safwafgaiear o wrsms SessU Lweau(hissuuBeug
(A) sHweray (B) ewCLigCumblL

(C) CaGeambim D) ObCermBLL it
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135.

136.

137.

Sanger’s reagent react with free amino group of amino acid to form intense yellow
(A) Dinitrobenzene (B/DNP-amino acid

(C) Conjugated protein (D) Polypeptides

Sanger’s eflaaiQurmear SlCGam @mu of WG siflessiLar e fbsg agmen

5GSDS!?
(A) DNP (B) DNP -8 Canim jflevid
©C) Qeeanns yrsd D) ured QuueL_(

Approximately the calories present in one plain dosa is

A 210 (B/ 110

(© 190 D) 35 e

e Carenguller 2_arer &Gamiluller ojeme, eremen?
A) 210 (B) 110

(C) 190 - D) 35

The calories present in 1 mdeium size banana is

(A)/50—60 B) 80
0

€ 9 D) 60-80

@ aurapliuwpsde o darer sGmilullen oierey cremen?
(A) 50-60 (B) 80

€ 90 : (D) 60-80
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138. The main cause for development of duodenal ulcer is
(A) Excess production of acid and decreased secretion pepsin
(B) _ Decreased production of acid and increased secretion pepsin
( Excess production of acid and pepsin
(D) Decreased production of acid and pepsin
GLe Lenranflen cuen&dlé @ (pasHlw SmyenTid
Q) sasdear oflslitigwnrer 2 Hugd womb Quiidler &y @Geney
B) sdesdear 2 nuss Geanng Quidler ariy sidlsfliy
(C) <l wpmb Quiidler oifselug wirer &gjugﬁ
D) e whmib Culifler &rly @emney

139. Dialysis contributes to loss of
(A) _ Cyanocobalamine and Ascorbic acid
(B)-/ Ascorbic acid and Folic acid
(C) Uric acid and Folic acid
(D) Ascorbic acid and pathogenic acid
Amipr asHafluGeanCuns Qbs @rar(h 55i58EHD eJenmdemme?
A) eswGanGsruewer LHMID Dev&TYE Diblevid
B) ievanmas uflew whmb Curells il
C) whs sflen wpmw Curells sfleon
D)  eevsrms sl whmib CuaGsrlgeafs odlawn

140. Foods low in protein and potassium and high in calories.
(1) Honey
(11) Arrow-root
(111) Potato
(1v) Turnip

(A) () only (B)/(i) and (i1) only
(C) (i11) only (D) (1) and (iv) only

Yrgd wpmb QuriLredlubd Gonbs el F&Hulen ety HHOTE 2 6Ter
2_awTa Sener euansLUILI(HSSIS
(1) Ggen
(1) < Cym-Ceur
(111) 2. (menerd] LLATCH
(iv) Lieflu
(A) () wi@w (B) (1) wHmb (1) dlwemeu WL HD
(C) (ii1) w_@w (D) (ii) wHmd (1v) gSHweneu I HD
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141.

142.

Persons with greater decision making authority are placed at the top in

organisation.

(A) Functional organisation

(B) Project organisation

(C) Line and Staff organisation
(DM Line organisation

Qs <ol wopuie someemwl uaflulled @muuaisErss sdse wigla@ssn
S HETyb o arerg

(A) Qeweur(® ey

B) Sl eenwiiy

(C) aufl Oy canPwiser el

D) eufl ey

The basic tool for any establishment is —————————— which shows the structure of an

organisation.

(A) Job description

(B) Job specification
(CV Organisation chart
(D) Budget

@@ Hlyeuarssler oigliuemL emwlbamear L 2 Fa|eug)
A) Geuarev efeurid

(B) Ceuewe efleurs@ iy

©) se@wuy eNarssliu@n

D)  aurey dewey Lliguwie
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143, ——————— test is conducted to find out the non-intellectual traits of a candidate.

- (A)/Pe rsonality

(B) Vocabulary

(C) Verbal reasoning

(D) Aptitude

eIy dn Siflesner smys Gp Sparseer Cordléssh —— CairaunEib
@) ayeEsen Hpar

B) Qe Spen

(C)  eumi Quomfl Fme

(D) o areflwed

144. Training methods could be classified as
(A) Physical and Mental
(B) Job rotation and Job enrichment
(C) Job analysis and Job design

(D/ On the job and off the job

uWHd epsmer eiaumy euamsliLBSSOTLD

(A) 2L anihHg HOID LETD EMTHS

B) Ceauewer Li@LLMLey wHML Geuame euigeuentoLiL]
(C) Caeme swndl wpmib Ceuama Geday e

(D) uefleu wHMID Lefeuwdo LLSHE
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145.

146.

147.

By adding ————— colour, we obtain a shade (darken colour)

(A) White B Black

(C) Pink (D) Red
| @@ euaransGar) —————— Hlpgas CardEo Aurygl puéE GCagl eariuBb i b
Hlmb Slen_&@d.

A) Qauamawn | ®) HHDLD

€) Qerepélaiy (D) &euiny

The degree of lightness or darkness of colour Iin relation to black and white is
(A/Value (B) Hue

(C) Intensity (D) Texture

@ Hmwrens smiuLy Qeuerenio Biptisemer gnihg Geuaflt HpwraCer wag B THS

BlmwraGeur @ mUidler 2igemen —————— eremui
A) wduy - (B) smwe
©)  gefy> D) sy

Golden Oblong is the most familiar proportioning system established by

(A) ' Indians (B Greeks

(C) Americans (D) Russians

Bms Her euigaud erayd eflflgsdenean seawr (B Gy SFeuiaerT
Q)  @pHuiser B) HCrssiser

(C) =QuAssisar D) rpegwisear
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148. The average weight of most healthy new born babies as per WHO recommendation
18

(A) 3.7kg
(B) 3.6kg
(C) 3.3kg
off 3.2 kg

w8 s&rey Himeueansder uflbgenriug 2Crradwnns Yphs Gbaguler syrafl eranL

A) 3.74
(B) 364
(C) 334
(D) 324

149. Which diet includes all the nutrients in correct proportion?
(A) High calorie
BW Balanced
(C) High protein
| (D) Therapeutic

DADEE) 2a1l_|EghgiE@anuid sfilwimen cHlflgsHe 2 erem sl 2 awre | eT)?
A) s sGanfl

B) &falds

C) <=dsygsw

@) usdu
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150.

151.

152.

153.

Which causes bitterness in citrus fruits?
(AW Limonioids (B) Esters
(C) Aldehydes (D) Alcohols

Ao upmisaflen s&lLseanio eTgeanme HuBEmg)?
(A) dCuwefermis_én B) erevLfev
©O) poymssear D) <esapme »

Which substance’s amount is reduced due to fermentation and germination of
pulses?

(A) Lysine (B) Methionine
(C)/ Oligosaccharides | (D) Polysaccharides

uGUUsemer Lallés meubse) LHMD (Poaésl (RS FPLTs 6hs QI_”J[T@GTﬂGBT 3676
GODADg? bl _
@A)  oofldar (B) QusHGunaarer
(C) @dCGsnenssamy(ser (D) unelsnsseyHser

The process of parboiling rice originated in
(A) Indonesia (B)/India
(C) Pakistan (D) China

Siflflepw Lprsemeus@n peanm Camerdlw BT
A) @QnCsrefdwmr B) @pdHwr
(C) urndlevgmen (D) &er

The percentage of protein present in aleurone cell layer is

(A) 10 | @& 20

(C) 30 (D) 40

s rren Qg SIMSGsale 2 arar Lrssden 56150
A) 10 ’ B) 20
(C) 30 (D) 40
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154. L A bes_f_; example for non-alcoholic aerated water is
(A) Lime water
(B) R.O. water
(C) Ginger -water

(D}l Soda water

2OSADTE DS ETHEDHOUILL L BMéEE @M Apps aG55156T 6
A) a@ufims Bi

B) R.O.gi

© @A si

(D) Gsnin i

155. ————— are also used as mixers for spirits and in cocktails.
(A)/Squashes
(B) Juices
(C) Water
(D) Soda

L SOEGUWITE FTYTULD OHIILD LFILITET Sevaeugand LWETLOSSILGSHDS)
, ! : :

(A) upssTy HOHS LTEID

B) upssy
(C). B
D) QGenmr

CDND/19 60



156. Egg yolk is more susceptible to spoilage by micro organisms because of its
(A) moisture content (B neutral pH

(C) enzymes ' (D) avidin content

(pLeLuller LErEeT & crafldle SWPYGEUENEG Sidvag Qs (L Curaugn(E STTERTD Digen
A) mrgsenan (B) mmHlene pH

(C) Qpréser (D) sieiger

157. Brining is a process of food preservation using high concentration of

(Aj/ Salt A (B) Sugar

(©C) O1l (D) Air (0,)

“Genrefli”erenrgyd  2amrey UsLUESHL em Qe g SFs  DeTey

LWL (DS S E8n g 1IG) ?
(A) 20y (B) sm&seny
(C)  aa@mQemni D) pseadiger (smom)

158. Moisture content promotes
(A) Oxidation of food (B) Reduction of food

(C)/Growth of micro organiéms (D) Loss of vitamins in food
FILUSLD SDESTEID 6ThHE @ edlamearana &S THUBSSHID?

A)  2seliCLagen (B) ML gager

©)  meraudf earidd (D) eaul Liflér sufay
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159. Choose the correct age of broiler chicken.
(A) 3-5weeks (B)-/8—10 weeks
(C) 3-5 months (D) 8-10 months

Qymier Gamfluden sflwuner suwens Gsfley Qawis

(A) 3-5 eumpraser (B) 8-10 eunrprusser
(C) 3-5 wrgrser (D) 8-10 wrsmser
160. ————— enlarges the heart causing painful palpitations, disfunctioning of heart
and heart attack.
(A)l’ Wet beriberi (B) Dry beri beri
(C) Infantile beri beri (D) Wet and Dry beri beri

cuallewiilss Qmasw Siglil, wpapwbhn @msw GQewupur® wHmb wrrmL iy Cureamenea

Crmullermed LB & mg)
@)y QuAGUA B) 2t AuUAGLA
(C) &sQuiQuM . D) rywomd 2 ef QuAGU
161. ——————— 1s synthesized by intestinal microorganism.
(A) Niacin (B) Riboflavin
¥ Folic acid (D) Thiamine

G mearanuifgerme @aeuser 2 (HeurdsLiLi(hdlemment
A)  Awrder B) MACumIGereSen
(C) CGuredé bled (D) egwider
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162:

163.

164.

Increased sodium diet 1s given in ————— disease.

AN Addison (B) Wilson
(C) Tubeculosis (D) Cystic fibrosis
Sigls Gamg Wb 2 awre —  CrmuipE QarHsstiu@Sng).
(A) =ugaern (B) &fevgen

(C) e@bLsER&SE (D) Hevigs ewuiCrmedlen

Tests for ketones leading to ketonemia or ketonuria should be performed, while
there is an increase in blood glucose level greater than

(A) 180 mg/dl (B 240 mg/dl

(C) 340 mg/dl (D) 400 mg/dl

Qrsssdler GErGanan ang saelnE Gue 2 wmb Curg, QrsssHa S CLmear wHmI
S CLrnemeflflwim, S CLmemyflwr ufGergeamen QeawiwGeuamr(HLd?

(A) 180 mg/dl ) (B) 240 mg/dl

(C) 340 mg/dl (D) 400 mg/dl

Which of the following statements on bile utilisation is true on removal of gall
bladder?

I : Bile secreted directly from liver to intestine.

II : Bile secretion is completely reduced.

III : Bile is no more produced by the liver.

IV : Bilary tract dilates forming a simulated pouch to store bile.

(A) All four statements are true
(B) Only I 1s true

(C) Only IT and III are true
(Di/ Only I and IV are true

sz epwarj;@uﬁ&@, Usssms LweaTuhdseug CQsriumer e sampmssafler erg)
2 GRTENLD? :

I : 9550 sodydle Qmbs GLEE CoIqWTs &T&Hng).

II : Y985 syiy wodab GenssuuBSDE.

III : seedye @afl 955 2 HuSH QauwiuBeudaame.

IV : 9ss5ams Callés Qe 14rrél g@m euemus 2 (HeumELb.

(A) mrenE shmSEHLD 2 eRTEnio (B) Iwpmb 2 e

(C) I wpmw III 2 arenwo (D) IwHmb IV 2 arenw
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165. Which of the following is not example for enzynie antioxidants?
(A) Manganese super oxide dismutase
(B) Copper super oxide dismutase
(C) . Zinc Super oxide dismutase -

(D).[ Sodium super oxide dismutase

Spsaramueunmer ergy Aprd 2wl euelCLpms g,@ﬁlﬁlmna; QeweuLmg?
(A) wrersetey GUUT E®mER igevully,l CLev

(B) smiur GLur same® evslyl G e

©) Ams Lot psos® gevdlyy’ CLev

(D) Gomguwib GUUT YE®m&ER gavdlu,lGLev

166. Find the micro organism that is responsible for stomach cancer.
(A) Clostridium (B) Salmonella
(C)/ Helicobacter Pyroli (D) E.Coli

“euulhm YHoICHMLESE sryesTwrer femanudfew s ey
A)  &Garmev_Muyd (B) e&reCGurQereer

(C) QapedCsrunsL i enuGeoril (D) @.Camad

167. Which among the following are present in whole grains and classified under cancer

inhibitors?
(A) Thiols (B)/ Ferulic acids
(C) Phytates (D) Phytoestrogen

Gareupeuareupmled PP g,rrdﬂu@&aﬂein 2 aer, UhnIGCHmU $HUUNETSET cTeneu?
(A)  egwme B) SQumeds ifleniser

C) JeulGLev : (D) o°a65>LfG|_nsraiv1;ijn®gé:rassiT
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168. The basic tool for any establishment is ———————— which shows the structure by

departments linked together.
(A) Production Plan
(B/Organisatidn Chart
(C) Decisio'n making

(D) Budget allocation

@m Hoeagdne Sgluerwrar smelwnesg oads s_dT5LL6mmuqa;ménu4Lb

Beanssainang

(&) 2 pusd P
G e
@ Dhacbene

D) vyl ukE® uaslLDS5S®

169. How many principles form the basis for management activity?

(A) 10 A B) 12

\(fm ] : D) 16

Blireuns QewadneisEE@ 2iigSSeTons ersgemar Gam_um{H&eT o eTeren?
@ 10 ond B) 12
C) 14 L (D) 16
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170. Hygiene and sanitation may be considered as
(A) Customer perception and hazards
(B) Food handling practices

(C) Personal and Ien-viromnental hygiene

@ (), (B and (©)

&SHSLD LDHMID SSHMHMFLD TSI

Q) eumgseswmert 5@55} woob Srig  (B) o awmey evswmend Lulnlaer
©) safl LdMb EHNLILD SETHMTD (D) Qea @aEzID

171. Which encompasses all the necessary activities taken to get rid of the hazards of

infection and diseases?

AW Sanitation (B Hygions

(C) Health : (D) Hazards

Cemi Qgmomy wHmd Cemi gHUODL SuTLSHSBHE WBer THSESULIHL SDANSHS)
S wreudluoner Qewesamen 2 erer_&dlwg) 6rg)?

A) guygey - (B) ssrgmyd

©C) <Crrsdlwb D) pusgEse

172. HACCP is introduced for
(A) Health inspection (B) Hazard control inspection
(C)’ Hygiene inspection (D) Nohe of the above

Qané ¢ 8 8 9 eifpsliuBsdHwder Crrésid
B)  Crmshu iy B) &G s OUUTE ey
(C) ssramy L6y (D) @eeu argiayb @aoanew
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'173. The kitchen should be placed

174.

(A) diagonal to
(B) opposite to
(C) away from
(D/ adjacent to

FOWRDWITENS 2 awrey LMmmb SmnéE

(A)
B)
©

(D)

Positioning of work centres and their arrangement is

R ppeneusled
THTULSSSS 60
A5 Qgmeneelied

g Siméled

(A)/ Layout

(B) Equipment
(C) Work flow

(D) Work area

the service area.

<jamww Ceuamr(Hid

uenfl ewwmser LHHID Seuddler Hlamasamer Eyms DenLILIZ)

4)

B)

(€

D)

uesilud emwlinyg b
D_LIG [T GRTTBISET
uenfluumiey

uenfludib
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175. Assertion (A) : Children like fried foods more than stéamed foods.
Reason (R) : Fried foods ;aids in digestion.
(AJ (A) is True, (R) is False
(B) (A)is False, (R) is True

(C) Bo_th (A) and (R) are True
(D) Both (A) and (R) are False

sapm (gn) : GRHDSSET 26N55 2 amraneu el QUTASS 2 avreney HHlsD eN(HLeTTEET.
sryenrd (&) : dumflss 2 ewayser AafwranssdlneE 2 g6 dlans.
(A)  apm &fl, sryewTd seum

B) oy gsug)], &ryenTd &1
C) aspm, -a;rrr;rsn;mb Qe HGw &
(D) spm, smrewd, QrarHiGw eum

176. Pulses contain ————— percent of protein.

(A) 10-15

(Bi_/ 20-24

(C) 55-60

(D) 18-40

LM uenSsafied —-&geﬁg, UrsiD 2_6Tang)
(4) 10-15 |
(B) 20-24

(C) 55-60

(ﬁ) 18-40
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177. The meat of cattle slaughtered 3 to 4 weeks after birth is known as
(A) . Beef
(B) Yearling mutton

i (C) Sausage

oW Veal

GpHs 3 ideg) 4 LrssHa Qe iy THEGEL QanFslem ————— eranu
(A) S0

B) el ol L én

(C) &nCssy

M) o

178. Yellow colour of ﬁlilk fat is due to the presence of
(A) Cryptoxanthin
(B) Lycopene

(C),/Carotenes
_(D) Lutein

Qmriugne Limellen QampLiL] ehser Hipons 2 ereng|
() ANLGLrsrenden | |
®B) @aGsmSen
(©) s
(D) gmeen
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179. One of the following is a fine white powder sugar with or with’ouf starch.
(A) Castor sugar _ (B)/Icing sugar
(C) Sugar powder : (D) Granulated sugar
Ep&STEmILD @6&@ DTEFESHE SOHGID SOESTONILD 2_6Ter GTut CeueTenar FTG&amIs SIaTmELD
A) gw Qesetener LG s TGS (B) o:fm snssey

(C) ensseys gner D) ©owefl srssamny

180. Choose the correct composition of corn syrup.
(A) 25% carbohydrate and 75% water (BM 75% carbohydrate and 25% water

(C) 30% carbohydrate and 70% water (D) 70% carbohydrate and 30% water

w&erE Gamer smmilen gflwimer s @g,rﬁeq Qels
A) 25% mﬁmé&'{ﬁ@ wOHMID 75% Bir - (B) 75% wneysesg womib 25% ﬁrr

(C) 30% wreysesg wHmd 70% B (D) 70% wreysssg whmid 30% Hir

181. Which term refers to removal of water from sugar and its eventual polymerisation?
(A) Decomposition (BL/Caramelisation
(C) Fermentation (D) Hydrolysis
sigsmrlgierer i sisamn @mduded LdUIGLLLTIMS GN&SEGD LS 6T8)?
A) Aopspe B) Susse

(©C) yeflggL Gurged _ D) BrmH LESsD
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182. “Siderosis” is due to overloéd of ———————— intake.

(A) Calcium (B) Phosphorus
(Cyf Iron (D) Potassium
“ELCprdlen” ———————— grguummer éiré,]&;mrra; 2 L adle Caiigeausme gnuB@ng
(A) smflub B) umevuFev
C) @y D) QumiLrdwd
183. “Hyperkalemia” is due to increased level of —————— element.
(A) Sodium B Potassium
(C) Calcium (D) Iron
“e@anium srdOlwn” @6Bss STgIL Qurmer ifswreuganmed ghuBHng
A) Gsmquibd (B) QumiLrflwb
C) srodwb (D) @mwy
184. Sea fish contains large amounts of —————— mineral.
(A) Calcium (B) Phosphorous
: (CV Fluoride . (D) Copper
sLbafler ——— grgv Qunmer s Sierelléd 2_GTeng)
(A) smodlub (B) umevugev
©) yeEpor® ' (D) smour
185. ——— is essential for the conversion of g carotene to Vitamin A.
(A) Iron (B) Calcium

(C) Todine W Zinc

B -&Cymiie e - eneul_Lfler A 248 IHDD S®LusH @ CoHaneuwmang
A) Qmwvy B) srflun

(©) <Cwmgenr (D) gssBTSD
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., 186.

187.

188.

How many grams of carbohydrate are present in one exchange of vegetable?

(A) 5gm (B)/IO gm
€) 12gm | @) 15gm

@@ smusn uflrdngdld ersgamean Sgmb srrGuremant Gyl o drerg?
(A) Sgm - (B) 10 gm

(C) 12gm (D). 15 gm

Which one of the following is used to prepare clear fluid diet?
(A) " Ragi. 2 (B) Wheat
(C)” Barley _(D) Maize

Sipssar_aunmer orgl Ozallbs Hra| o ame| swnrflésts LwauAng?
Q) grd o (B) Csmgienw

(C) unmed (D) Ggmerd

What kind of diet is prescribed during Atherosclerosis indications?
(A) Sodium restricted diet (B) Low calorie diet

(C}/ Low cholesterol diet (D) Low Purine diet

<218 CrrevdlafiCrmedlen Cung) erhg euans 2 awre| LUMBgI@TESILHS DG ?
(A) Gsmgquwid gl QewwiulL 2awe) (B) & sGarfl 2 awrey

(©) & Qamupuy 2 ewray (D) & Guyfler o awrey
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189. The lipid mediator, prostacyclius is found in

190.

191,

(A) Epithelial wall ! (B)'/Arterial wall

(C) Erthyrocytes (D) Platelets

Qsmuys stresflurer YGrmevLemesdlaflan i@ Ly HS(HESD?

Q) umsGsme &eur B) swafl seur

- (©)  Aaugpsser D) @uésau Qése
Very low calorie diet should be less than —— k.cal.
(A) 400 (B) 500
©) 1700 (D800

GODHS 5l§a§,1wu_|és Qan(®é@b 2-aey ereucuarey sGamfa@d S @) (HEse CouamT(Hitd?

(A) 400 : : (B) 500

(C) 700 ' (D) 800

Formula diet contain mainly = reduce obese condition.
(A) Xylose (B) Dextrin

(C)./F ructose -~ (D) Sucrose

2 L&) U(HLOMAT GMDES 2 6D LOT6YFESS) 6T8)?
(A) QsCemev (B) QL&enig e
(C) QyasGLnmen D) &sCymev
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192. Select the long term function in catering.

(A)/Labour policy

(B) Purchase procedures
(C) Menu preparation

(D) Equipments

2 awTeushigetler BerL BreveTw Lanfl 61g)?
(A)  Qsrfemart Qsmdrens

(B) 2 awey eunmiu@d elsd

(C) Quway wenow swurigse

(D) Caeeuwiner 2 LISFERTHRIGET

193. The organisation chart does not show —————— in catering establishments.
(A) Tasks
(B) Titles

(C) Planned relationships

(Dv Information communication

2 ameusgSlen HlireurssSaarer euanyUL Gl QL Quprg) |
A) ueflgar
(B) seeuy

(©) Gsmlium® Gzmizer

D) eursdy QsTanasd QHTLTLEET
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194. Appointing right person in the right job is

195.

(A;/ Placement
(E) Training
(C) Transfer
.I(D) Promotion

gRlwren weflgener sflwrear CeumansE CambosHLILF

(A)
(B)
©)
(D)

(A)
®
©)

®)

uenflwigse
Luullné
LOTHDHLD

ugedl 2wy

test is performed to assess how quickly and efficiently the candidate

- performs his job.

(& Dexterity
(B). Achievement
(C) Intelligence
(D) Personality

Csitey Qewemnmib Gm&g_i;ﬁsmm iemeilL LJH..;G&TLI@EE]{_D@
Qewed Hpearmiiay
sngener Slpemiiey
mieiramPlajs Hpemiiey

2 EHenio HmerTiie]
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196. Which of the following factors should be considered while selecting equipment?
" (A) Size and type of establishment |
(B.) Menu
(C) Price
DM (A), (B) and (C)

(B 2 USTES®S UG LEUTpg Sheimeuareuppidt ereaneuGwided Lmiés Gauem(Hib?-
A) o awmeussSlen eTey Lori)ng UGS

(B) eo.awey uligwe o

(C) eflevev _

D) Cupsadu SmarEsID

197. Choose the correct answer :

Statement I : While receiving food, the delivery note is checked in the copy of the
order placed.

Statement II : The quality of all received ingredients are checked with the
specification given to the supplier.

(A) Statement I is true and Statement II is wrong

(B) Statement II is true and Statement I is wrong

(Cl Both the Statements are true

(D) Both the Statements are false

gflwrer eflenLamw Gsfle] Qauis

eurgdHluwid | : o awrey GupUU@L Qurpg NFICWTs @MU L6 Qararupse < emartuldle
B&e fuissiiu@dns.

aursdwun II @ 2 aney aupmiGUaIBEEG GaTOdsULLL @HIUSL L6 QuplulL o ey
. Qun@lseaien sy sflumissuuGEng.

A) earsdwnd I f eunsdlwn II seum)

(B) eumsdwibd I seum eurgdlwib 11 &M

(C) @Quan® eursHwkisEsd &l

(D) @ner(® cursdlwimhis@Ehd Seum)
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198.

199.

200.

are not usually included among the elements of art.
(A/ Light and space . (B) Line

(C) Form (D) Colour and texture

GeunmieT ereneu e ulle FamseT e ?

(A) ol wpnt@Lb B) e

) eugeud (D)  euamantd WHMID LI
Ranges are examples for ——————— duty equipment.

(A) Light : (B) Medium

(C’Heavy . (D) Multiuse

Crepsen eramiu(HId 2 LISTERTBIGE —————— GUAGEI FMTHSEMEU

A)  QeErs (B) wsHwuys

(&) a;mqas (D) uveCrras

The haemoglobin levels of severly anaemic pregnanfs women is
A) <6 gdl | BT g/dl
(C) <8g/dl D) <9gdl

shHevwrer  QssGemens  UMHUUSE  cemamear  S@HeYDO(HEHEGD

afGum@Carmden ojarey
(A) <6g/dl B) <7 g/dl
(C) <8g/dl _ (D) <9g/dl

77

QuenTsafleor
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